

Inverse scattering for N -body time-decaying harmonic oscillators

Atsuhide ISHIDA

Katsushika Division, Institute of Arts and Sciences, Tokyo University of Science,
6-3-1 Niijuku, Katsushika-ku, Tokyo 125-8585, Japan

Email: aishida@rs.tus.ac.jp

Abstract

In the previous study [26], the author proved the uniqueness of short-range potential functions using the Enss-Weder time-dependent method [16] for a two-body quantum system described by time-decaying harmonic oscillators. In this study, we extend the result of [26] to the N -body case. We use the approaches developed in [16, 49, 53] to prove that the high-velocity limit of the scattering operator uniquely determines all the pairwise interaction potentials among the N particles, focusing respectively on each fixed pair of particles.

Keywords: N -body scattering theory, wave operator, scattering operator
MSC2020: 35R30, 81U10, 81U40, 81Q10

1 Introduction

We consider a quantum system governed by the N -particle harmonic oscillators and interactional potential functions described by the Hamiltonian

$$\tilde{H}(t) = - \sum_{j=1}^N \Delta_{r_j} / (2m_j) + k(t) \sum_{j=1}^N m_j r_j^2 / 2 + \sum_{1 \leq j < k \leq N} V_{jk}(r_k - r_j) \quad (1.1)$$

acting on $L^2(\mathbb{R}^{dN})$ with $N \geq 2$ and $d \geq 2$, where $r_j \in \mathbb{R}^d$ is the position of the j th particle, $m_j > 0$ is the mass, Δ_{r_j} is the Laplacian for r_j , and V_{jk} is the interaction between j th and k th particles. The time-dependent coefficient $k(t)$ is defined as

$$k(t) = \begin{cases} \omega^2 & \text{if } |t| < T, \\ \sigma/t^2 & \text{if } |t| \geq T \end{cases} \quad (1.2)$$

for $0 < \sigma < 1/4$, $\omega > 0$ and $T > 0$.

We now introduce the Jacobi coordinates in which the center of mass of all N particles is located at the origin (see [31, Chapter 3] or [45, XI.5]). Let \mathcal{X} be the subspace of \mathbb{R}^{dN} described by

$$\mathcal{X} = \left\{ (r_1, \dots, r_N) \in \mathbb{R}^{dN} \mid \sum_{j=1}^N m_j r_j = 0 \right\} \simeq \mathbb{R}^{d(N-1)} \quad (1.3)$$

and \mathcal{X}_{cm} be the orthogonal space for \mathcal{X} associated with the scalar product

$$(r, \tilde{r})_{\mathbb{R}^{dN}} = \sum_{j=1}^N m_j r_j \cdot \tilde{r}_j \quad (1.4)$$

on \mathbb{R}^{dN} for $r = (r_1, \dots, r_N)$ and $\tilde{r} = (\tilde{r}_1, \dots, \tilde{r}_N) \in \mathbb{R}^{dN}$. When the position of the center of mass is removed, the unperturbed Hamiltonian of (1.1) is given by

$$H_0(t) = - \sum_{j=1}^N \Delta_{r_j}/(2m_j) + \Delta_{\text{cm}}/(2M) + k(t) \sum_{j=1}^N m_j r_j^2/2 - k(t) M r_{\text{cm}}^2/2 \quad (1.5)$$

acting on $L^2(\mathcal{X})$, where $M = \sum_{j=1}^N m_j$ is the total mass, $r_{\text{cm}} = \sum_{j=1}^N m_j r_j/M \in \mathcal{X}_{\text{cm}}$ is the position of the center of mass, and Δ_{cm} is the Laplace-Beltrami operator on \mathcal{X}_{cm} . This expression (1.5) can be simplified by rewriting it in Jacobi coordinates as

$$y_j = r_{j+1} - \sum_{k=1}^j m_k r_k / \sum_{k=1}^j m_k \in \mathcal{X} \quad (1.6)$$

for $1 \leq j \leq N-1$. The reduced mass μ_j is defined as

$$1/\mu_j = 1/ \sum_{k=1}^j m_k + 1/m_{j+1}. \quad (1.7)$$

Under these notations, we have

$$\sum_{j=1}^N m_j r_j^2 = M r_{\text{cm}}^2 + \sum_{j=1}^{N-1} \mu_j y_j^2, \quad (1.8)$$

$$\sum_{j=1}^N \Delta_{r_j}/m_j = \Delta_{\text{cm}}/M + \sum_{j=1}^{N-1} \Delta_{y_j}/\mu_j \quad (1.9)$$

where Δ_{y_j} is the Laplace-Beltrami operator on \mathcal{X} . Therefore, in these coordinates, (1.5) can be written as the unperturbed Hamiltonian

$$H_0(t) = - \sum_{j=1}^{N-1} \Delta_{x_j}/2 + k(t) \sum_{j=1}^{N-1} x_j^2/2 \quad (1.10)$$

acting on $L^2(\mathcal{X})$ with $x_j = \sqrt{\mu_j} y_j$ for simplicity.

We now give the assumptions for each potential function V_{jk} in (1.1) as a perturbation of $H_0(t)$. Let the condition for λ be

$$0 < \lambda = (1 - \sqrt{1 - 4\sigma})/2 < 1/2. \quad (1.11)$$

Assumption 1.1. Each function $V_{jk} : \mathbb{R}^d \rightarrow \mathbb{R}$ for $1 \leq j < k \leq N$ is a multiplication operator and decomposed into two parts:

$$V_{jk} = V_{jk}^{\text{bdd}} + V_{jk}^{\text{sing}}. \quad (1.12)$$

The bounded part $V_{jk}^{\text{bdd}} \in L^\infty(\mathbb{R}^d)$ satisfies

$$|V_{jk}^{\text{bdd}}(x)| \lesssim \langle x \rangle^{-\rho} \quad (1.13)$$

with $\rho > 1/(1 - \lambda)$, where $\langle \cdot \rangle = \sqrt{1 + |\cdot|^2}$ and $A \lesssim B$ means that there exists a constant $C > 0$ such that $A \leq CB$. The singular part $V_{jk}^{\text{sing}} \in L^q(\mathbb{R}^d)$ is compactly supported on \mathcal{X} , where the Lebesgue exponent q satisfies

$$\infty > q \begin{cases} = 2 & \text{if } n \leq 3, \\ > n/2 & \text{if } n \geq 4. \end{cases} \quad (1.14)$$

It is well-known that each V_{jk}^{sing} is $-\Delta$ -bounded infinitesimally. The interacting Hamiltonian is

$$H(t) = H_0(t) + \sum_{1 \leq j < k \leq N} V_{jk}(r_k - r_j) \quad (1.15)$$

acting on $L^2(\mathcal{X})$. Here we note $r_k - r_j \in \mathcal{X}$ for any $1 \leq j < k \leq N$. Under these definitions, the perturbed full Hamiltonian is decomposed into

$$\tilde{H}(t) = H(t) \otimes 1 + 1 \otimes (-\Delta_{\text{cm}}/(2M) - k(t)Mx_{\text{cm}}^2/2) \quad (1.16)$$

on $L^2(\mathcal{X}) \otimes L^2(\mathcal{X}_{\text{cm}})$, where 1 denotes the identities on $L^2(\mathcal{X})$ and $L^2(\mathcal{X}_{\text{cm}})$. Therefore, we will concentrate on studying the quantum system governed by $H(t)$. Because two parameter unitary propagators generated by $H_0(t)$ and $H(t)$ exist uniquely by the result of [54, Theorem 6 and Remark (a)], we denote these propagators as $U_0(t, s)$ and $U(t, s)$. In N -body quantum scattering theory, we have to consider the cluster decomposition $a = \{C_1, \dots, C_m\}$ with $m \geq 2$, where $C_j \subset \{1, \dots, N\}$ for $1 \leq j \leq m$, which satisfies $\cup_{j=1}^m C_j = \{1, \dots, N\}$ and $C_j \cap C_k = \emptyset$ if $j \neq k$. Let \mathcal{X}^a be the subspace of \mathcal{X} given by

$$\mathcal{X}^a = \left\{ (r_1, \dots, r_N) \in \mathcal{X} \left| \sum_{j \in C} m_j r_j = 0, C \in a \right. \right\} \quad (1.17)$$

and \mathcal{X}_a be its orthogonal space. The cluster Hamiltonian is defined as

$$H_a(t) = - \sum_{j=1}^{N-1} \Delta_{x_j}/2 + k(t) \sum_{j=1}^{N-1} x_j^2/2 + \sum_{\{j,k\} \subset a} V_{jk}(r_k - r_j) \quad (1.18)$$

acting on $L^2(\mathcal{X})$. In the subspace \mathcal{X}_a , V_{jk} does not vanish for $\{j, k\} \subset a$. Therefore, it is natural that the cluster interaction

$$\sum_{\{j,k\} \not\subset a} V_{jk}(r_k - r_j) \quad (1.19)$$

be regarded as the perturbation and that the cluster Hamiltonian $H_a(t)$ of (1.18) be considered the unperturbed system for any cluster decomposition a . However, to discuss inverse scattering, it suffices to consider the N -cluster case where $a = \{\{1\}, \dots, \{N\}\}$ and the wave operators defined as

$$W^\pm = \text{s-lim}_{t \rightarrow \infty} U(t, 0)^* U_0(t, 0). \quad (1.20)$$

We give the proof of existence of (1.20) in Section 2. Then the scattering operator is defined as

$$S(V) = (W^+)^* W^- \quad (1.21)$$

for $V = \sum_{1 \leq j < k \leq N} V_{jk}(r_k - r_j)$.

Theorem 1.2. *Let $V_1 = \sum_{1 \leq j < k \leq N} V_{jk,1}$ and $V_2 = \sum_{1 \leq j < k \leq N} V_{jk,2}$ satisfy Assumption 1.1. If $S(V_1) = S(V_2)$, then $V_{jk,1} = V_{jk,2}$ for $1 \leq j < k \leq N$.*

Many researchers have studied scattering theory under the N -body quantum systems, in particular, the the existence and asymptotic completeness of the wave operators, has been studied by a lot of researchers. Regarding the standard N -body Schrödinger operators, see [5, 13, 14, 18, 46, 47, 48]; the detailed history and proofs are also provided in [15, 31]. For N -body Schrödinger operators in the external electric fields, see [1, 3, 8, 9, 20]. For the external magnetic fields, see [2, 17]. However, there are no results regarding scattering theory for N -body time-decaying harmonic oscillators.

The Enss-Weder time-dependent method was invented in [16] for the standard Schrödinger operators. Since then, many researchers have applied this method to other quantum models. The Stark effect and time-dependent electric fields were studied by [4, 6, 7, 10, 11, 22, 25, 42, 44, 49]. The repulsive Hamiltonians were studied by [21, 24, 44]. The fractional Laplacian and Dirac equations were studied by [23, 32]. The non-linear Schrödinger equations were studied by [50]. The Hartree-Fock equations were studied by [51, 52]. Recently, the author investigated the two-body time-decaying harmonic oscillator and repulsive Hamiltonian in [26, 27]. N -body inverse scattering was investigated by [16] for the standard Schrödinger case, and by [53, 49] for the Stark effect. Our proof also follows the strategies of these previous studies. That is, by an appropriate choice of Jacobi coordinates, the problem is reduced to the two-body case [26]. It should be emphasized that the pioneering works of [16, 53] already treated both the two-body

and N -body case in a unified manner. The arguments of [16, 53, 49] show that the reduction to two-body channels is a fundamental principle.

Regarding scattering theory for the two-body time-decaying harmonic oscillator, [28] proved the existence of the wave operators under the assumption 1.1 only for the bounded part V^{bdd} and non-existence for $\rho \leq 1/(1-\lambda)$, and clarified that the condition $\rho > 1/(1-\lambda)$ is short-range. We can intuitively understand the threshold $1/(1-\lambda)$ from the classical motion of the particle $x(t) = c_1 t^{1-\lambda} + c_2 t^\lambda$ for $t \geq T$, which satisfies the Newton equation $(d^2/dt^2)x(t) = -k(t)x(t)$ because λ is one of the roots of the quadratic equation $\lambda^2 - \lambda + \sigma = 0$. The critical case $\sigma = 1/4$ was studied by [29]. For the inverse square potential, [30] proved the asymptotic completeness of the wave operators. Moreover, [30] proved the Strichartz estimates and applied them to the initial-value problems for the non-linear Schrödinger equations. The non-linear Schrödinger equations and Strichartz estimates with time-decaying harmonic oscillators have also been studied by [33, 34, 35, 36, 37, 38, 39, 40].

Throughout this paper, we identify $L^2(\mathcal{X})$ with $L^2(\mathbb{R}^{d(N-1)})$ and use the following notations. $\|\cdot\|$ denotes the L^2 -norm or operator norm on $L^2(\mathbb{R}^{d(N-1)})$, and (\cdot, \cdot) denotes the scalar product of $L^2(\mathbb{R}^{d(N-1)})$. $F(\dots)$ is the characteristic function of the set $\{\dots\}$.

2 Existence of Wave Operators

In this section, we prove the existence of the N -cluster wave operators (1.20). To do that, we reduce the problem to a much simpler form of strong limits. We define $D = (D_1, \dots, D_{N-1})$ for $D_j = -i\nabla_{x_j}$ and $x = (x_1, \dots, x_{N-1}) \in \mathbb{R}^{d(N-1)}$. Then the free Hamiltonian is written as

$$H_0(t) = D^2/2 + k(t)x^2/2 = \sum_{j=1}^{N-1} D_j^2/2 + k(t) \sum_{j=1}^{N-1} x_j^2/2. \quad (2.1)$$

The propagators $U_0(t, s)$ and $U(t, s)$ have unitary factorizations for $t, s \geq T$ or $t, s \leq -T$ that were proved by [28, Proposition 1] in the two-body case. We define

$$U_{0,\lambda}(t) = e^{i\lambda x^2/(2t)} e^{-i\lambda \log t A} e^{-it^{1-2\lambda} D^2/(2(1-2\lambda))} \quad (2.2)$$

if $t \geq T$ and

$$U_{0,\lambda}(t) = e^{i\lambda x^2/(2t)} e^{-i\lambda \log(-t) A} e^{i(-t)^{1-2\lambda} D^2/(2(1-2\lambda))} \quad (2.3)$$

if $t \leq -T$, where $A = (D \cdot x + x \cdot D)/2$. Then the factorizations

$$U_0(t, s) = U_{0,\lambda}(t) U_{0,\lambda}(s)^* \quad (2.4)$$

and

$$U(t, s) = e^{i\lambda x^2/(2t)} e^{-i\lambda \log |t| A} U_\lambda(t, s) e^{i\lambda \log |s| A} e^{-i\lambda x^2/(2s)} \quad (2.5)$$

hold for $t, s \geq T$ or $t, s \leq -T$, where $U_\lambda(t, s)$ is the propagator generated by

$$D^2/(2|t|^{2\lambda}) + \sum_{1 \leq j < k \leq N} V_{jk}(|t|^\lambda(r_k - r_j)). \quad (2.6)$$

Regarding the proofs of (2.4) and (2.5), it suffices to prove the following Proposition 2.1 because $e^{i\lambda \log |t| A} D_j e^{-i\lambda \log |t| A} = D_j/|t|^\lambda$ for $1 \leq j \leq N$ clearly holds, and the rest of the proofs are demonstrated in [28, Proposition 1].

Proposition 2.1.

$$e^{i\lambda \log |t| A} (r_k - r_j) e^{-i\lambda \log |t| A} = |t|^\lambda (r_k - r_j) \quad (2.7)$$

holds for any $1 \leq j < k \leq N$.

Proof of Proposition 2.1. For $1 \leq j < k \leq N$ fixed, we construct the Jacobi coordinates from $y_1 = r_k - r_j$ and define $A_1 = (x_1 \cdot D_1 + D_1 \cdot x_1)/2$ for $x_1 = \sqrt{\mu_1} y_1$. We have

$$e^{i\lambda \log |t| A} y_1 e^{-i\lambda \log |t| A} = e^{i\lambda \log |t| A_1} x_1 e^{-i\lambda \log |t| A_1} / \sqrt{\mu_1}. \quad (2.8)$$

As in the proof of [28, Proposition 1], we have (2.7). \square

To prove the existence of the wave operators (1.20), it suffices to prove the existence of the strong limits

$$\text{s-lim}_{t \rightarrow \pm\infty} U_\lambda(t, T)^* e^{-it^{1-2\lambda} D^2/(2(1-2\lambda))} \quad (2.9)$$

by virtue of the factorizations (2.4) and (2.5), and the chain rules of the propagators. The following propagation estimate and the existence of the wave operators for the two-body time-decaying harmonic oscillator with only the bounded part V^{bdd} only were proved in [28, Proposition 1 and Theorem 1] by establishing the correspondence with (2.9) for the two-body case. Our proof is one of the extensions to the N -body case with the singular part V_{jk}^{sing} .

Here we introduce a conical region in which all relative momenta are uniformly bounded away from zero. We denote a $d(N-1)$ -dimensional open ball with radius $r > 0$ centered at $\xi \in \mathbb{R}^{d(N-1)}$ as $B_{d(N-1)}(\xi, r)$ and its spherical surface as $\mathbb{S}^{d(N-1)-1}$. For any $1 \leq j < k \leq N$, there exists a full-rank matrix $L_{jk} : \mathbb{R}^{d(N-1)} \rightarrow \mathbb{R}^d$ such that any conjugate momentum $\xi_{jk} \in \mathbb{R}^d$ associated with the relative coordinate $r_k - r_j$ is given by $\xi_{jk} = L_{jk} \xi$ for some $\xi \in \mathbb{R}^{d(N-1)}$. We note that L_{jk} is surjective and that $\dim \ker L_{jk} = d(N-2)$. Let $\omega_0 \in \mathbb{S}^{d(N-1)-1} \setminus (\cup_{1 \leq j < k \leq N} \ker L_{jk})$ be fixed. Then $|L_{jk} \omega_0| > 0$ holds. In particular, there exist $\epsilon_0 > 0$ and $\delta > 0$ such

that $|L_{jk}\omega| \geq \epsilon_0$ for any $\omega \in \mathbb{S}^{d(N-1)-1} \cap B_{d(N-1)}(\omega_0, \delta)$. We then define a conical region

$$\mathcal{C}_{\omega_0, \delta} = \{\xi \in \mathbb{R}^{d(N-1)} \setminus \{0\} \mid \xi/|\xi| \in \mathbb{S}^{d(N-1)-1} \cap B_{d(N-1)}(\omega_0, \delta)\}. \quad (2.10)$$

By this definition, if $\xi \in \mathcal{C}_{\omega_0, \delta}$, then $|\xi_{jk}| = |L_{jk}\xi| \geq \epsilon_0|\xi|$ holds for any $1 \leq j < k \leq N$. In the following Proposition 2.2 and proof of Proposition 2.3, we use $\omega_0 \in \mathbb{S}^{d(N-1)-1} \setminus (\cup_{1 \leq j < k \leq N} \ker L_{jk})$, $\epsilon_0 > 0$, and $\delta > 0$ chosen above.

Proposition 2.2. *Let $\phi \in \mathcal{S}(\mathbb{R}^{d(N-1)})$ be such that $\mathcal{F}_{d(N-1)}\phi \in C_0^\infty(\mathbb{R}^{d(N-1)})$ with $\text{supp } \mathcal{F}_{d(N-1)}\phi \subset \{\xi \in \mathcal{C}_{\omega_0, \delta} \mid |\xi| \geq \epsilon\}$ for $0 < \epsilon \leq \epsilon_0$, where $\mathcal{F}_{d(N-1)}$ denotes the Fourier transform on $L^2(\mathbb{R}^{d(N-1)})$. Then*

$$\|F(\sqrt{\mu_{jk}}|r_k - r_j| \leq \epsilon^2 t^{1-2\lambda}/(1-2\lambda))e^{-it^{1-2\lambda}D^2/(2(1-2\lambda))}\phi\| \lesssim_\nu t^{-\nu(1-2\lambda)} \|\langle r_k - r_j \rangle^\nu \phi\| \quad (2.11)$$

holds for any $1 \leq j < k \leq N$, where $\mu_{jk} = m_j m_k / (m_j + m_k)$, $\nu \in \mathbb{N}$, and $t \geq T$, and \lesssim_ν means that the constant depends on ν .

Proof of Proposition 2.2. We have

$$\begin{aligned} & F(\sqrt{\mu_{jk}}|r_k - r_j| \leq \epsilon^2 t^{1-2\lambda}/(1-2\lambda))e^{-it^{1-2\lambda}D^2/(2(1-2\lambda))}\phi \\ &= e^{-it^{1-2\lambda} \sum_{j=2}^{N-1} D_j^2/(2(1-2\lambda))} F(|x_1| \leq \epsilon^2 t^{1-2\lambda}/(1-2\lambda))e^{-it^{1-2\lambda}D_1^2/(2(1-2\lambda))}\phi, \end{aligned} \quad (2.12)$$

where the Jacobi coordinates are reconstructed from $y_1 = r_k - r_j$ for $(j, k) \neq (1, 2)$. Because $|\xi_1| = |L_{jlk}\xi| \geq \epsilon_0|\xi| \geq \epsilon^2$ holds on $\text{supp } \mathcal{F}_{d(N-1)}\phi$, it suffices to prove that

$$\|F(|x_1| \leq \epsilon^2 t^{1-2\lambda}/(1-2\lambda))e^{-it^{1-2\lambda}D_1^2/(2(1-2\lambda))}\psi\|_{L^2(\mathbb{R}^d)} \lesssim_\nu t^{-\nu(1-2\lambda)} \|\langle x_1 \rangle^\nu \psi\|_{L^2(\mathbb{R}^d)} \quad (2.13)$$

for $\mathcal{F}_d\psi \in C_0^\infty(\mathbb{R}^d)$ with $\text{supp } \mathcal{F}_d\psi \subset \{\xi \in \mathbb{R}^d \mid |\xi| \geq \epsilon^2\}$ where \mathcal{F}_d denotes the Fourier transform on $L^2(\mathbb{R}^d)$. We write

$$\begin{aligned} & F(|x_1| \leq \epsilon^2 t^{1-2\lambda}/(1-2\lambda))e^{-it^{1-2\lambda}D_1^2/(2(1-2\lambda))}\psi \\ &= \int_{\mathbb{R}^d} e^{i(x_1 \cdot \xi - t^{1-2\lambda}|\xi|^2/(2(1-2\lambda)))} F(|x_1| \leq \epsilon^2 t^{1-2\lambda}/(1-2\lambda))\mathcal{F}_d\psi(\xi) d\xi / (2\pi)^{d/2}. \end{aligned} \quad (2.14)$$

When $|x_1| \leq \epsilon^2 t^{1-2\lambda}/(1-2\lambda)$, we have

$$|x_1 - t^{1-2\lambda}\xi/(1-2\lambda)| \geq \epsilon^2 t^{1-2\lambda}/(1-2\lambda) \quad (2.15)$$

on $\text{supp } \mathcal{F}_d\psi$. By the relation

$$\begin{aligned} & e^{i(x_1 \cdot \xi - t^{1-2\lambda}\xi^2/(2(1-2\lambda)))} \\ &= (x_1 - t^{1-2\lambda}\xi/(1-2\lambda)) \cdot (-i\nabla_\xi) e^{i(x_1 \cdot \xi - t^{1-2\lambda}\xi^2/(2(1-2\lambda)))} / |x_1 - t^{1-2\lambda}\xi/(1-2\lambda)|^2 \end{aligned} \quad (2.16)$$

and integrating by parts, we have (2.13). \square

Proposition 2.3. *The wave operators (1.20) exist.*

Proof of Proposition 2.3. We prove the existence of (2.9) for $t \rightarrow \infty$. The derivative at t of $U_\lambda(t, T)^* e^{-it^{1-2\lambda} D^2 / (2(1-2\lambda))}$ is

$$\begin{aligned} & (d/dt)U_\lambda(t, T)^* e^{-it^{1-2\lambda} D^2 / (2(1-2\lambda))} \\ &= i \sum_{1 \leq j < k \leq N} U_\lambda(t, T)^* V_{jk}(t^\lambda(r_k - r_j)) e^{-it^{1-2\lambda} D^2 / (2(1-2\lambda))}. \end{aligned} \quad (2.17)$$

By Assumption 1.1,

$$\|V_{jk}^{\text{bdd}}(t^\lambda(r_k - r_j))F(\sqrt{\mu_{jk}}|r_k - r_j| > \epsilon^2 t^{1-2\lambda} / (1-2\lambda))\| \lesssim t^{-\rho(1-\lambda)} \quad (2.18)$$

holds for any $0 < \epsilon \leq \epsilon_0$. Whereas we have

$$V_{jk}^{\text{sing}}(t^\lambda(r_k - r_j))F(\sqrt{\mu_{jk}}|r_k - r_j| > \epsilon^2 t^{1-2\lambda} / (1-2\lambda))\langle D/t^\lambda \rangle^{-2} = 0 \quad (2.19)$$

for $t \gg 1$ because V_{jk}^{sing} is compactly supported. By Proposition 2.2, we clearly have

$$\begin{aligned} & \|V_{jk}^{\text{bdd}}(t^\lambda(r_k - r_j))F(\sqrt{\mu_{jk}}|r_k - r_j| \leq \epsilon^2 t^{1-2\lambda} / (1-2\lambda))e^{-it^{1-2\lambda} D^2 / (2(1-2\lambda))} \phi\| \\ & \lesssim t^{-\nu(1-2\lambda)} \|\langle x \rangle^\nu \phi\| \end{aligned} \quad (2.20)$$

because V_{jk}^{bdd} is bounded. Let $\chi \in C^\infty(\mathbb{R}^d)$ such that

$$\chi(x) = \begin{cases} 1 & \text{if } |x| \geq 1 \\ 0 & \text{if } |x| \leq 1/2. \end{cases} \quad (2.21)$$

Reconstructing the Jacobi coordinates for $(j, k) \neq (1, 2)$, we have

$$\begin{aligned} & \|V_{jk}^{\text{sing}}(t^\lambda(r_k - r_j))F(\sqrt{\mu_{jk}}|r_k - r_j| \leq \epsilon^2 t^{1-2\lambda} / (1-2\lambda))e^{-it^{1-2\lambda} D^2 / (2(1-2\lambda))} \phi\| \\ & \leq \|V_{jk}^{\text{sing}}(t^\lambda x_1 / \sqrt{\mu_{jk}}) \chi((1-2\lambda)x_1 / (\epsilon^2 t^{1-2\lambda})) e^{-it^{1-2\lambda} D_1^2 / (2(1-2\lambda))} \phi\|. \end{aligned} \quad (2.22)$$

Noting that $\|V_{jk}^{\text{sing}}(t^\lambda x_1 / \sqrt{\mu_{jk}}) \langle \sqrt{\mu_{jk}} D_1 / t^\lambda \rangle^{-2}\| = \|V_{jk}^{\text{sing}}(x_1) \langle D_1 \rangle^{-2}\|$ and that

$$\begin{aligned} i[D_1^2, \chi((1-2\lambda)x_1 / (\epsilon^2 t^{1-2\lambda}))] &= ((1-2\lambda) / \epsilon^2 t^{1-2\lambda}) (\nabla \chi)((1-2\lambda)x_1 / (\epsilon^2 t^{1-2\lambda})) \cdot D_1 \\ & - i((1-2\lambda) / \epsilon^2 t^{1-2\lambda})^2 (\Delta \chi)((1-2\lambda)x_1 / (\epsilon^2 t^{1-2\lambda})), \end{aligned} \quad (2.23)$$

we have

$$\begin{aligned} & \|\langle \sqrt{\mu_{jk}} D_1 / t^\lambda \rangle^2 \chi((1-2\lambda)x_1 / (\epsilon^2 t^{1-2\lambda})) e^{-it^{1-2\lambda} D_1^2 / (2(1-2\lambda))} \phi\| \\ & \lesssim \|\chi((1-2\lambda)x_1 / (\epsilon^2 t^{1-2\lambda})) e^{-it^{1-2\lambda} D_1^2 / (2(1-2\lambda))} \phi\| \\ & + t^{-1} \|(\nabla \chi)((1-2\lambda)x_1 / (\epsilon^2 t^{1-2\lambda})) \cdot e^{-it^{1-2\lambda} D_1^2 / (2(1-2\lambda))} D_1 \phi\| + t^{-2+2\lambda} \|\phi\|. \end{aligned} \quad (2.24)$$

We can use Proposition 2.2 again for the first and second terms on the right side of (2.3). By (2.18), (2.19), (2.20), and (2.24), we therefore have

$$\|(d/dt)U_\lambda(t, T)^* e^{-it^{1-2\lambda}D^2/(2(1-2\lambda))} \phi\| \lesssim t^{-\rho(1-\lambda)} + t^{-\nu(1-2\lambda)} + t^{-2+2\lambda} \quad (2.25)$$

for $t \gg 1$. We note that $\rho(1-\lambda) > 1$, $2-2\lambda > 1$, and $\nu(1-2\lambda) > 1$ for $\nu \gg 1$. By the Cook-Kuroda method ([45, Theorem XI.4]), this completes the proof. \square

3 Inverse Scattering

To prove Theorem 1.2, it is convenient to choose different Jacobi coordinates from those of (1.6). According to [16, 49, 53], we focus on the pair of particles 1 and 2 and prove that $V_{12,1} = V_{12,2}$ because the proofs for the other pairs for j and k can be demonstrated in the same analogy. Let $y_{12} = r_2 - r_1$ be the relative position between r_1 and r_2 , and

$$y_j = r_j - (m_1 r_1 + m_2 r_2)/(m_1 + m_2) \quad (3.1)$$

for $3 \leq j \leq N$ be the relative position between r_j and the center of mass for r_1 and r_2 . Their conjugate momentums are given by

$$-i\nabla_{y_{12}} = \mu_{12}(-i\nabla_{r_2}/m_2 - (-i\nabla_{r_1})/m_1) \quad (3.2)$$

and

$$-i\nabla_{y_j} = \mu_j(-i\nabla_{r_j}/m_j - (-i\nabla_{r_1} - i\nabla_{r_2})/(m_1 + m_2)) \quad (3.3)$$

for $3 \leq j \leq N$ where

$$\mu_{12} = m_1 m_2 / (m_1 + m_2) \quad (3.4)$$

and

$$\mu_j = m_j(m_1 + m_2) / (m_j + m_1 + m_2) \quad (3.5)$$

for $3 \leq j \leq N$ are the reduced masses respectively. Because of the relations

$$\sum_{j=1}^N m_j r_j^2 = M r_{\text{cm}}^2 + \mu_{12} y_{12}^2 + \sum_{j=3}^N \mu_j y_j^2, \quad (3.6)$$

$$\sum_{j=1}^N \Delta_{r_j}/m_j = \Delta_{\text{cm}}/M + \Delta_{y_{12}}/\mu_{12} + \sum_{j=3}^N \Delta_{y_j}/\mu_j, \quad (3.7)$$

we rewrite the free Hamiltonian $H_0(t)$ in (2.1) using $D = (D_{12}, D_3, \dots, D_N)$ and $x = (x_{12}, x_3, \dots, x_N)$ with $x_{12} = \sqrt{\mu_{12}} y_{12}$ and $x_j = \sqrt{\mu_j} y_j$ for $3 \leq j \leq N$. The relative momentum D_{jk} is defined such that $D_{1k} = D_{2k} = D_k - D_{12}$ for $3 \leq k \leq N$

and $D_{jk} = D_k - D_j$ for $3 \leq j < k \leq N$. These coordinates are different from those in [16, 49, 53] because of the scalings of x_{12} and x_j for $3 \leq j \leq N$. By virtue of these scalings, we omit the effects of reduced masses in our notations. Even in these coordinates, the wave operators (1.20) exist by the same proofs in Section 2. In particular, the strong limits

$$W_\lambda^\pm = \text{s-lim}_{t \rightarrow \pm\infty} U(t, 0)^* U_{0,\lambda}(t) \quad (3.8)$$

also exist, and we define

$$S_\lambda(V) = (W_\lambda^+)^* W_\lambda^-. \quad (3.9)$$

Because $W^\pm = W_\lambda^\pm U_{0,\lambda}(s_\pm)^* U_0(s_\pm, 0)$ holds for $s_+ \geq T$ and $s_- \leq -T$, we have

$$S(V) = U_0(s_+, 0)^* U_{0,\lambda}(s_+) S_\lambda(V) U_{0,\lambda}(s_-)^* U_0(s_-, 0). \quad (3.10)$$

This implies that $S(V_1) = S(V_2)$ is equivalent to $S_\lambda(V_1) = S_\lambda(V_2)$.

$H_0(t) \equiv H_0 = D^2/2 + \omega^2 x^2/2$ is the time-independent harmonic oscillator for $|t| < T$, and its time-evolution e^{-itH_0} is governed by the Mehler formula in [12, Section 2.2] and [41, Theorem 5.29], which is

$$e^{-itH_0} = \mathcal{M}_{d(N-1)}(\tan \omega t/\omega) \mathcal{D}_{d(N-1)}(\sin \omega t/\omega) \mathcal{F}_{d(N-1)} \mathcal{M}(\tan \omega t/\omega) \quad (3.11)$$

for $\omega t \notin \pi\mathbb{Z}$, where $\mathcal{M}_{d(N-1)}$ and $\mathcal{D}_{d(N-1)}$ are multiplication and dilation given by

$$\mathcal{M}_{d(N-1)}(t)\phi(x) = e^{ix^2/(2t)}\phi(x), \quad (3.12)$$

$$\mathcal{D}_{d(N-1)}(t)\phi(x) = (it)^{-d(N-1)/2}\phi(x/t). \quad (3.13)$$

Moreover,

$$e^{-itH_0} = i^{d(N-1)/2} \mathcal{M}_{d(N-1)}(-\cot \omega t/\omega) \mathcal{D}_{d(N-1)}(\cos \omega t) e^{-i \tan \omega t D^2/(2\omega)} \quad (3.14)$$

for $\omega t \notin (\pi/2)\mathbb{Z}$.

For $v \in \mathbb{R}^d$, the normalization is $\hat{v} = v/|v|$. Let $\hat{v}, e_3, \dots, e_N \in \mathbb{R}^d$ be unit vectors pointing in mutually different directions. We define $v_{jk} = v_k - v_j$ for $1 \leq j < k \leq N$ where $v_1 = -v/2$, $v_2 = v/2$, and $v_j = |v|^2 e_j$ for $3 \leq j \leq N$. Let $\Phi_0 \in \mathcal{S}(\mathbb{R}^{d(N-1)})$ be $\Phi_0 = \phi_1 \otimes \phi_2$ such that $\mathcal{F}_d \phi_1 \in C_0^\infty(\mathbb{R}^d)$ and $\mathcal{F}_{d(N-1)} \phi_2 \in C_0^\infty(\mathbb{R}^{d(N-2)})$ with $\|\phi_2\|_{L^2(\mathbb{R}^{d(N-2)})} = 1$. In addition, we assume that $\text{supp } \mathcal{F}_d \phi_1 \subset \{|\xi_{12}| \in \mathbb{R}^d \mid |\xi_{12}| < \eta_{12}\}$ for some $\eta_{12} > 0$ and $\text{supp } \mathcal{F}_{d(N-1)} \phi_2 \subset \{(\xi_3, \dots, \xi_N) \in \mathbb{R}^{d(N-2)} \mid |\xi_3| < 1, \dots, |\xi_N| < 1\}$. We define $\Phi_v = \mathcal{I}_v \Phi_0$ for

$$\mathcal{I}_v = e^{iv \cdot x_{12}} \prod_{j=3}^N e^{iv_j \cdot x_j}. \quad (3.15)$$

Then there exists $f_{jk} \in C_0^\infty(\mathbb{R}^d)$ with $\text{supp } f_{jk} \subset \{\xi \in \mathbb{R}^d \mid |\xi| \leq \eta_{jk}\}$ where $\eta_{1k} = \eta_{2k} = 1 + \eta_{12}$ for $3 \leq k \leq N$ and $\eta_{jk} = 2$ for $3 \leq j < k \leq N$ such that

$$\Phi_v = \mathcal{T}_v f_{jk}(D_{jk})\Phi_0 = f_{jk}(D_{jk} - v_{jk})\Phi_v. \quad (3.16)$$

To apply the Enss-Weder time-dependent method [16], the following reconstruction formula is essential. By virtue of this formula, the uniqueness of the potential functions follows from the injective property of the Radon transform.

Theorem 3.1. *Let Φ_v be defined as above and Ψ_v have the same properties for $\Psi_0 = \psi_1 \otimes \phi_2$. Then*

$$\lim_{|v| \rightarrow \infty} |v| (i(S_\lambda(V) - 1)\Phi_v, \Psi_v) = \int_{-\infty}^{\infty} (V_{12}(r_2 - r_1 + \hat{v}t)\phi_1, \psi_1)_{L^2(\mathbb{R}^d)} dt \quad (3.17)$$

holds for $V = \sum_{1 \leq j < k \leq N} V_{jk}$, which satisfies Assumption 1.1.

It seems difficult to study the time evolution of $U_0(t, 0)$ directly for all $t \in \mathbb{R}$. Instead, we analyze e^{-itH_0} for $|t| < T$ and $e^{\mp i|t|^{1-2\lambda}D^2/(2(1-2\lambda))}$ for $|t| \geq T$ according to [26]. We define $U_{0,\lambda}(t) = e^{-itH_0}$ for $|t| < T$. In the proofs below, we can assume that

$$\pi/(2\omega) \leq T < \pi/\omega \quad (3.18)$$

without loss of generality, as in [26].

Lemma 3.2. *Let Φ_v be as in Theorem 3.1. Then*

$$\int_{-\infty}^{\infty} \|V_{jk}^{\text{bdd}}(r_k - r_j)U_{0,\lambda}(t)\Phi_v\| dt = O(|v_{jk}|^{-1}) \quad (3.19)$$

holds as $|v| \rightarrow \infty$ for any $1 \leq j < k \leq N$.

Proof of Lemma 3.2. We divide the integral such that

$$\int_{-\infty}^{\infty} = \int_{|t| < T} + \int_{|t| \geq T} \quad (3.20)$$

and first consider the integral on $|t| < T$. By (3.14) and (3.16), we have

$$\begin{aligned} \|V_{jk}^{\text{bdd}}(r_k - r_j)e^{-itH_0}\Phi_v\| &= \|V_{jk}^{\text{bdd}}(\cos \omega t(r_k - r_j))e^{-i \tan \omega t D^2/(2\omega)} f_{jk}(D_{jk} - v_{jk})\Phi_v\| \\ &= \|V_{jk}^{\text{bdd}}(\cos \omega t x_{12}/\sqrt{\mu_{jk}})e^{-i \tan \omega t D_{12}^2/(2\omega)} f_{jk}(D_{12} - v_{jk})\Phi_v\| \\ &= \|V_{jk}^{\text{bdd}}((\cos \omega t x_{12} + \sin \omega t v_{jk}/\omega)/\sqrt{\mu_{jk}})e^{-i \tan \omega t D_{12}^2/(2\omega)} f_{jk}(D_{12})e^{-i v_{jk} \cdot x_{12}}\Phi_v\|, \end{aligned} \quad (3.21)$$

where we have reconstructed the Jacobi coordinates from $y_{12} = r_k - r_j$ for $(j, k) \neq (1, 2)$ and used the relation

$$e^{-iv_{jk} \cdot x_{12}} e^{-i \tan \omega t D_{12}^2 / (2\omega)} e^{iv_{jk} \cdot x_{12}} = e^{-i \tan \omega t |v_{jk}|^2 / (2\omega)} e^{-i \tan \omega t D_{12} \cdot v_{jk} / \omega} e^{-i \tan \omega t D_{12}^2 / (2\omega)}. \quad (3.22)$$

From [26, (39), (40), and (43) in the proof of Lemma 2.3], we have

$$\int_{|t| < T} \|V_{jk}^{\text{bdd}}(r_k - r_j) e^{-itH_0} \Phi_v\| dt = O(|v_{jk}|^{-1}). \quad (3.23)$$

We next consider the integral on $|t| \geq T$. In particular, we consider $t \geq T$. By (2.2) and (3.16), we have

$$\begin{aligned} \|V_{jk}^{\text{bdd}}(r_k - r_j) U_{0,\lambda}(t) \Phi_v\| &= \|V_{jk}^{\text{bdd}}(t^\lambda (r_k - r_j)) e^{-it^{1-2\lambda} D^2 / (2(1-2\lambda))} f_{jk}(D_{jk} - v_{jk}) \Phi_v\| \\ &= \|V_{jk}^{\text{bdd}}(t^\lambda x_{12} / \sqrt{\mu_{jk}}) e^{-it^{1-2\lambda} D_{12}^2 / (2(1-2\lambda))} f_{jk}(D_{12} - v_{jk}) \Phi_v\| \\ &= \|V_{jk}^{\text{bdd}}((t^\lambda x_{12} + t^{1-2\lambda} v_{jk} / (1-2\lambda)) / \sqrt{\mu_{jk}}) e^{-it^{1-2\lambda} D_{12}^2 / (2(1-2\lambda))} f_{jk}(D_{12}) e^{-iv_{jk} \cdot x_{12}} \Phi_v\|, \end{aligned} \quad (3.24)$$

where we have reconstructed the Jacobi coordinates from $y_{12} = r_k - r_j$ for $(j, k) \neq (1, 2)$ and used the relation

$$\begin{aligned} &e^{-iv_{jk} \cdot x_{12}} e^{-it^{1-2\lambda} D_{12}^2 / (2(1-2\lambda))} e^{iv_{jk} \cdot x_{12}} \\ &= e^{-it^{1-2\lambda} |v_{jk}|^2 / (2(1-2\lambda))} e^{-it^{1-2\lambda} D_{12} \cdot v_{jk} / (1-2\lambda)} e^{-it^{1-2\lambda} D_{12}^2 / (2(1-2\lambda))}. \end{aligned} \quad (3.25)$$

By [26, (47) and (51) in the proof of Lemma 2.3], we have

$$\int_{|t| \geq T} \|V_{jk}^{\text{bdd}}(r_k - r_j) U_{0,\lambda}(t) \Phi_v\| dt = O(|v_{jk}|^{-1}). \quad (3.26)$$

(3.23) and (3.26) complete the proof. \square

Lemma 3.3. *Let Φ_v be as in Theorem 3.1. Then*

$$\int_{-\infty}^{\infty} \|V_{jk}^{\text{sing}}(r_k - r_j) U_{0,\lambda}(t) \Phi_v\| dt = O(|v_{jk}|^{-1}) \quad (3.27)$$

holds as $|v| \rightarrow \infty$ for any $1 \leq j < k \leq N$.

Proof of Lemma 3.3. We divide the integral such that

$$\int_{-\infty}^{\infty} = \int_{|t| \leq \pi/(4\omega)} + \int_{\pi/(4\omega) < |t| < T} + \int_{|t| \geq T} \quad (3.28)$$

and first consider the integral on $|t| \leq \pi/(4\omega)$. As we similarly had for (3.21), we have

$$\begin{aligned} \|V_{jk}^{\text{sing}}(r_k - r_j)e^{-itH_0}\Phi_v\| &= \|V_{jk}^{\text{sing}}((\cos \omega t x_{12} + \sin \omega t v_{jk}/\omega)/\sqrt{\mu_{jk}})\langle D_{12}/\cos \omega t \rangle^{-2} \\ &\quad \times e^{-i \tan \omega t D_{12}^2/(2\omega)} f_{jk}(D_{12})\langle D_{12}/\cos \omega t \rangle^2 e^{-iv_{jk} \cdot x_{12}} \Phi_v\|. \end{aligned} \quad (3.29)$$

We take $g_{jk} \in C_0^\infty(\mathbb{R}^d)$ such that $f_{jk} = f_{jk}g_{jk}$. Noting that

$$\begin{aligned} &\|\langle x_{12} \rangle^2 \langle D_{12}/\cos \omega t \rangle^2 g_{jk}(D_{12}) e^{-iv_{jk} \cdot x_{12}} \Phi_v\| \\ &\lesssim \|\langle D_{12} \rangle^2 g_{jk}(D_{12})\| \|\langle x_{12} \rangle^2 \Phi_0\| + \|[x_{12}^2, \langle D_{12} \rangle^2 g_{jk}(D_{12})] e^{-iv_{jk} \cdot x_{12}} \Phi_v\| \lesssim 1, \end{aligned} \quad (3.30)$$

we have

$$\int_{|t| \leq \pi/(4\omega)} \|V_{jk}^{\text{sing}}(r_k - r_j)e^{-itH_0}\Phi_v\| = O(|v_{jk}|^{-1}) \quad (3.31)$$

by [26, (74) and (79) in the proof of Lemma 3.2]. We next consider the integral on $\pi/(4\omega) < |t| < T$. We define the d -dimensional harmonic oscillator

$$H_{0,12} = D_{12}^2/2 + w^2 x_{12}^2/2 \quad (3.32)$$

and note that the Mehler formula

$$e^{-iH_{0,12}} = i^{d/2} \mathcal{M}_d(-\cot \omega t/\omega) \mathcal{D}_d(\cos \omega t) e^{-i \tan \omega t D_{12}^2/(2\omega)} \quad (3.33)$$

also holds. As we similarly had for (3.21), we have

$$\begin{aligned} &\|V_{jk}^{\text{sing}}(r_k - r_j)e^{-itH_0}\Phi_v\| \\ &= \|V_{jk}^{\text{sing}}((\cos \omega t x_{12} + \sin \omega t v_{jk}/\omega)/\sqrt{\mu_{jk}}) e^{-i \tan \omega t D_{12}^2/(2\omega)} e^{-iv_{jk} \cdot x_{12}} \Phi_v\| \\ &= \|V^{\text{sing}}((x_{12} + \sin \omega t v_{jk}/\omega)/\sqrt{\mu_{jk}}) e^{-iH_{0,12}} e^{-iv_{jk} \cdot x_{12}} \Phi_v\| \end{aligned} \quad (3.34)$$

using (3.33). We therefore have

$$\int_{\pi/(4\omega) < |t| < T} \|V_{jk}^{\text{sing}}(r_k - r_j)e^{-itH_0}\Phi_v\| = O(|v_{jk}|^{-1}) \quad (3.35)$$

by [26, (88) and (93) in the proof of Lemma 3.2]. Finally, we consider the integral on $|t| \geq T$, in particular $t \geq T$. As we similarly had for (3.24), we have

$$\begin{aligned} \|V_{jk}^{\text{sing}}(r_k - r_j)U_{0,\lambda}(t)\Phi_v\| &= \|V_{jk}^{\text{sing}}((t^\lambda x_{12} + t^{1-2\lambda} v_{jk}/(1-2\lambda))/\sqrt{\mu_{jk}})\langle D_{12}/t^\lambda \rangle^{-2} \\ &\quad \times e^{-it^{1-2\lambda} D_{12}^2/(2(1-2\lambda))} f_{jk}(D_{12})\langle D_{12}/t^\lambda \rangle^2 e^{-iv_{jk} \cdot x_{12}} \Phi_v\|. \end{aligned} \quad (3.36)$$

As in (3.30), we have

$$\|\langle x_{12} \rangle^2 \langle D_{12}/t^\lambda \rangle^2 g_{jk}(D_{12}) e^{-iv_{jk} \cdot x_{12}} \Phi_v\| \lesssim 1 \quad (3.37)$$

for $g_{jk} \in C_0^\infty(\mathbb{R}^d)$ such that $f_{jk} = f_{jk}g_{jk}$. We inductively have

$$\|\langle x_{12} \rangle^2 \langle D_{12}/t^\lambda \rangle^N g_{jk}(D_{12}) e^{-iv_{jk} \cdot x_{12}} \Phi_v\| \lesssim 1 \quad (3.38)$$

for any $N \in \mathbb{N}$. Therefore, by [26, (97) and (99) in the proof of Lemma 3.2], we have

$$\int_{|t| \geq T} \|V_{jk}^{\text{sing}}(r_k - r_j) U_{0,\lambda}(t) \Phi_v\| = O(|v_{jk}|^{-1}). \quad (3.39)$$

(3.31), (3.35), and (3.39) imply that Lemma 3.3 holds. \square

By virtue of Lemmas 3.2 and 3.3, we immediately have the following Lemma as in [16, Corollary 2.3] (see also [4, 6, 7, 10, 11, 21, 22, 23, 26, 27, 42, 43, 44, 49, 53]). We therefore omit its proof.

Lemma 3.4. *Let Φ_v be as in Theorem 3.1. Then*

$$\sup_{t \in \mathbb{R}} \|(U(t, 0)W_\lambda^- - U_{0,\lambda}(t))\Phi_v\| = O(|v|^{-1}) \quad (3.40)$$

holds as $|v| \rightarrow \infty$.

Proof of Theorem 3.1. We have

$$\begin{aligned} i(S_\lambda(V) - 1) &= i(W_\lambda^+ - W_\lambda^-)^* W_\lambda^- = i \int_{-\infty}^{\infty} ((d/dt)U(t, 0)^* U_{0,\lambda}(t))^* W_\lambda^- dt \\ &= \sum_{1 \leq j < k \leq N} \int_{-\infty}^{\infty} U_{0,\lambda}(t)^* V_{jk}(r_k - r_j) U(t, 0) W_\lambda^- dt \end{aligned} \quad (3.41)$$

and

$$|v|((iS(V) - 1)\Phi_v, \Psi_v) = |v| \int_{-\infty}^{\infty} (V_{12}(r_2 - r_1) U_{0,\lambda}(t) \Phi_v, U_{0,\lambda}(t) \Psi_v) dt + R(v), \quad (3.42)$$

where

$$\begin{aligned} R(v) &= |v| \sum_{(j,k) \neq (1,2)} \int_{-\infty}^{\infty} (V_{jk}(r_k - r_j) U_{0,\lambda}(t) \Phi_v, U_{0,\lambda}(t) \Psi_v) dt \\ &+ |v| \sum_{1 \leq j < k \leq N} \int_{-\infty}^{\infty} ((U(t, 0)W_\lambda^- - U_{0,\lambda}(t))\Phi_v, V_{jk}(r_k - r_j) U_{0,\lambda}(t)) dt. \end{aligned} \quad (3.43)$$

Noting that

$$\int_{-\infty}^{\infty} \|V_{jk}(r_k - r_j) U_{0,\lambda}(t) \Phi_v\| dt = O(|v|^{-2}) \quad (3.44)$$

holds as $|v| \rightarrow \infty$ for $(j, k) \neq (1, 2)$, we have $R(v) = O(|v|^{-1})$ by Lemmas 3.2, 3.3, and 3.4. We now prove

$$|v| \int_{-\infty}^{\infty} (V_{12}(r_2 - r_1)U_{0,\lambda}(t)\Phi_v, U_{0,\lambda}(t)\Psi_v)dt \rightarrow \int_{-\infty}^{\infty} (V_{12}(r_2 - r_1 + \hat{v}t)\phi_1, \psi_1)_{L^2(\mathbb{R}^d)}dt \quad (3.45)$$

as $|v| \rightarrow \infty$. We first focus on the term V_{12}^{bdd} . We divide the integral such that

$$\int_{-\infty}^{\infty} = \int_{|t| < \pi/(2\omega)} + \int_{\pi/(2\omega) \leq |t| < T} + \int_{|t| \geq T} \quad (3.46)$$

and consider the integrals on $|t| < \pi/(2\omega)$ and $\pi/(2\omega) \leq |t| < T$. Recalling that ϕ_2 is normalized, we have

$$\begin{aligned} & (V_{12}^{\text{bdd}}(r_2 - r_1)e^{-itH_0}\Phi_v, e^{-itH_0}\Psi_v) \\ &= (V_{12}^{\text{bdd}}(\cos \omega t x_{12}/\sqrt{\mu_{12}})e^{-i \tan \omega t D_{12}^2/(2\omega)}\Phi_v, e^{-i \tan \omega t D_{12}^2/(2\omega)}\Psi_v) \\ &= (V_{12}^{\text{bdd}}(x_{12}/\sqrt{\mu_{12}})e^{-iH_{0,12}}e^{iv \cdot x_{12}}\phi_1, e^{-iH_{0,12}}e^{iv \cdot x_{12}}\psi_1)_{L^2(\mathbb{R}^d)} \end{aligned} \quad (3.47)$$

for $|t| < T$ by (3.14) and (3.33). Therefore

$$\begin{aligned} & |v| \int_{|t| < \pi/(2\omega)} (V_{12}^{\text{bdd}}(r_2 - r_1)e^{-itH_0}\Phi_v, e^{-itH_0}\Psi_v)dt \\ & \rightarrow \int_{-\infty}^{\infty} (V_{12}^{\text{bdd}}(x_{12}/\sqrt{\mu_{12}} + \hat{v}t)\phi_1, \psi_1)_{L^2(\mathbb{R}^d)}dt \end{aligned} \quad (3.48)$$

and

$$|v| \int_{\pi/(2\omega) \leq |t| < T} (V_{12}^{\text{bdd}}(r_2 - r_1)e^{-itH_0}\Phi_v, e^{-itH_0}\Psi_v)dt \rightarrow 0 \quad (3.49)$$

hold as $|v| \rightarrow \infty$ by [26, (64) and (65) in the proof of Theorem 2.1]. Let $U_{0,12}(t, s)$ be the propagator for the d -dimensional time-dependent harmonic oscillator

$$H_{0,12}(t) = D_{12}^2/2 + k(t)x_{12}^2/2 \quad (3.50)$$

and define

$$U_{0,12,\lambda}(t) = e^{i\lambda x_{12}^2/(2t)}e^{-i\lambda \log t A_{12}}e^{-it^{1-2\lambda}D_{12}^2/(2(1-2\lambda))} \quad (3.51)$$

if $t \geq T$ and

$$U_{0,12,\lambda}(t) = e^{i\lambda x_{12}^2/(2t)}e^{-i\lambda \log(-t)A_{12}}e^{i(-t)^{1-2\lambda}D_{12}^2/(2(1-2\lambda))} \quad (3.52)$$

if $t \leq -T$, where $A_{12} = (D_{12} \cdot x_{12} + x_{12} \cdot D_{12})/2$. By (2.2), (2.3), (3.51), and (3.52), we have

$$\begin{aligned} & (V_{12}^{\text{bdd}}(r_2 - r_1)U_{0,\lambda}(t)\Phi_v, U_{0,\lambda}(t)\Psi_v) \\ &= (V_{12}^{\text{bdd}}(t^\lambda x_{12}/\sqrt{\mu_{12}})e^{-it^{1-2\lambda}D_{12}^2/(2(1-2\lambda))}\Phi_v, e^{-it^{1-2\lambda}D_{12}^2/(2(1-2\lambda))}\Psi_v) \\ &= (V_{12}^{\text{bdd}}(x_{12}/\sqrt{\mu_{12}})U_{0,12,\lambda}(t)e^{iv \cdot x_{12}}\phi_1, U_{0,12,\lambda}(t)e^{iv \cdot x_{12}}\psi_1)_{L^2(\mathbb{R}^d)} \end{aligned} \quad (3.53)$$

for $|t| \geq T$. By [26, (66) in the proof of Theorem 2.1],

$$|v| \int_{|t| \geq T} (V_{12}^{\text{bdd}}(r_2 - r_1)U_{0,\lambda}(t)\Phi_v, U_{0,\lambda}(t)\Psi_v)dt \rightarrow 0 \quad (3.54)$$

holds as $|v| \rightarrow \infty$. We next focus on the term V_{12}^{sing} . We divide the integral such that

$$\int_{-\infty}^{\infty} = \int_{|t| < \pi/(4\omega)} + \int_{\pi/(4\omega) \leq |t| < T} + \int_{|t| \geq T} \quad (3.55)$$

and consider the integrals on $|t| < \pi/(4\omega)$ and $\pi/(4\omega) \leq |t| < T$. Because (3.47) also holds with V_{12}^{bdd} replaced by V_{12}^{sing} , we have

$$\begin{aligned} & |v| \int_{|t| < \pi/(4\omega)} (V_{12}^{\text{sing}}(r_2 - r_1)e^{-itH_0}\Phi_v, e^{-itH_0}\Psi_v)dt \\ & \rightarrow \int_{-\infty}^{\infty} (V_{12}^{\text{sing}}(x_{12}/\sqrt{\mu_{12}} + \hat{v}t)\phi_1, \psi_1)_{L^2(\mathbb{R}^d)}dt \end{aligned} \quad (3.56)$$

and

$$|v| \int_{\pi/(4\omega) \leq |t| < T} (V_{12}^{\text{sing}}(r_2 - r_1)e^{-itH_0}\Phi_v, e^{-itH_0}\Psi_v)dt \rightarrow 0 \quad (3.57)$$

as $|v| \rightarrow \infty$ by [26, (110) and (111) in the proof of Theorem 3.1]. Finally, we consider the integral on $|t| \geq T$. Because (3.53) also holds with V_{12}^{bdd} replaced by V_{12}^{sing} , we have

$$|v| \int_{|t| \geq T} (V_{12}^{\text{bdd}}(r_2 - r_1)U_{0,\lambda}(t)\Phi_v, U_{0,\lambda}(t)\Psi_v)dt \rightarrow 0 \quad (3.58)$$

as $|v| \rightarrow \infty$ by [26, (112) in the proof of Theorem 3.1]. Combining (3.48), (3.49), (3.54), (3.56), (3.57), and (3.58), we have (3.45). \square

Proof of Theorem 1.2. We assume that $S_\lambda(V_1) = S_\lambda(V_2)$ because (3.10) holds. By the same computation as that of [26, (77) in the proof of Lemma 3.2], we have the condition commonly referred to as the Enss condition

$$\int_0^\infty \|V_{12}(r_2 - r_1)\langle D_{12} \rangle^{-2}F(|r_2 - r_1| \geq R)\|_{\mathcal{B}(L^2(\mathbb{R}^d))}dR < \infty. \quad (3.59)$$

By virtue of Theorem 3.1 and the Plancherel formula for the Radon transform ([19, Theorem 2.17 in Chapter 1]), we have $V_{12,1} = V_{12,2}$ in the same way as for the proof of [16, Theorem 1.1]. \square

Acknowledgments. This work was supported by JSPS KAKENHI Grant Numbers JP21K03279.

References

- [1] T. Adachi, Scattering theory for N -body quantum systems in a time-periodic electric field, *Funkcial. Ekvac.* **44** (2001), no. 2, 335–376.
- [2] T. Adachi, On spectral and scattering theory for N -body Schrödinger operators in a constant magnetic field, *Rev. Math. Phys.* **14** (2002), no. 2, 199–240.
- [3] T. Adachi, Asymptotic completeness for N -body quantum systems with long-range interactions in a time-periodic electric field, *Comm. Math. Phys.* **275** (2007), no. 2, 443–477.
- [4] T. Adachi, Y. Fujiwara, A. Ishida, On multidimensional inverse scattering in time-dependent electric fields, *Inverse Problems* **29** (2013), 085012, 24 pp.
- [5] T. Adachi, K. Itakura, K. Ito, E. Skibsted, New methods in spectral theory of N -body Schrödinger operators, *Rev. Math. Phys.* **33** (2021), no. 5, Paper No. 2150015, 48 pp.
- [6] T. Adachi, T. Kamada, M. Kazuno, K. Toratani, On multidimensional inverse scattering in an external electric field asymptotically zero in time, *Inverse Problems* **27** (2011), 065006, 17 pp.
- [7] T. Adachi, K. Maehara, On multidimensional inverse scattering for Stark Hamiltonians, *J. Math. Phys.* **48** (2007), 042101, 12 pp.
- [8] T. Adachi, H. Tamura, Asymptotic completeness for long-range many-particle systems with Stark effect, *J. Math. Sci. Univ. Tokyo* **2** (1995), no. 1, 76–116.
- [9] T. Adachi, H. Tamura, Asymptotic completeness for long-range many-particle systems with Stark effect. II, *Comm. Math. Phys.* **174** (1996), no. 3, 537–559.
- [10] T. Adachi, Y. Tujii, On multidimensional inverse scattering under the time-dependent Stark effect, *Kyushu J. Math.* **78** (2024), no. 2, 337–372.
- [11] T. Adachi, Y. Tujii, On multidimensional inverse scattering under the Stark effect, *Hiroshima Math. J.* **54** (2024), no. 3, 319–358.
- [12] J. F. Bony, R. Carles, D. Häfner, L. Michel, Scattering theory for the Schrödinger equation with repulsive potential, *J. Math. Pures Appl.* (9) **84** (2005), no. 5, 509–579.

- [13] J. Dereziński, Algebraic approach to the N -body long range scattering, *Rev. Math. Phys.* **3** (1991), no. 1, 1–62.
- [14] J. Dereziński, Asymptotic completeness of long-range N -body quantum systems, *Ann. of Math. (2)* **138** (1993), no. 2, 427–476.
- [15] J. Dereziński and C. Gérard, *Scattering Theory of Classical and Quantum N -Particle Systems*, Springer-Verlag, Berlin, 1997.
- [16] V. Enss, R. Weder, The geometrical approach to multidimensional inverse scattering, *J. Math. Phys.* **36** (1995), no. 8, 3902–3921.
- [17] C. Gérard, I. Łaba, *Multiparticle quantum scattering in constant magnetic fields*, American Mathematical Society, Providence, 2002.
- [18] G. M. Graf, Asymptotic completeness for N -body short-range quantum systems: a new proof, *Comm. Math. Phys.* **132** (1990), no. 1, 73–101.
- [19] S. Helgason, *Groups and Geometric Analysis, Integral geometry, invariant differential operators, and spherical functions*, Pure and Applied Mathematics, 113. *Academic Press, Inc., Orland, FL*, 1984.
- [20] I. Herbst, J. S. Møller, E. Skibsted, Asymptotic completeness for N -body Stark Hamiltonians, *Comm. Math. Phys.* **174** (1996), no. 3, 509–535.
- [21] A. Ishida, On inverse scattering problem for the Schrödinger equation with repulsive potentials, *J. Math. Phys.* **55** (2014), no. 8, 082101, 12 pp.
- [22] A. Ishida, Inverse scattering in the Stark effect, *Inverse Problems* **35** (2019) no. 10. 105010, 20 pp.
- [23] A. Ishida, Propagation property and application to inverse scattering for fractional powers of negative Laplacian, *East Asian J. Appl. Math.* **10** (2020), no. 1, 106–122.
- [24] A. Ishida, Inverse scattering for repulsive potential and strong singular interactions, *J. Math. Phys.* **65** (2024), no. 8, Paper No. 082101, 10 pp.
- [25] A. Ishida, Corrigendum: Inverse scattering in the Stark effect (2019 Inverse Problems 35 105010), *Inverse Problems* **40** (2024) no. 12, Paper No. 129501, 3 pp.
- [26] A. Ishida, Quantum inverse scattering for time-decaying harmonic oscillators, *Inverse Probl. Imaging* **19** (2025), no. 2, 282–296.

- [27] A. Ishida, Quantum inverse scattering for time-dependent repulsive Hamiltonians of quadratic type, *arXiv:2504.05915*.
- [28] A. Ishida, M. Kawamoto, Existence and nonexistence of wave operators for time-decaying harmonic oscillators, *Rep. Math. Phys.* **85** (2020), no. 3, 335–350.
- [29] A. Ishida, M. Kawamoto, Critical scattering in a time-dependent harmonic oscillator, *J. Math. Anal. Appl.* **492** (2020), no. 2, 124475, 9 pp.
- [30] A. Ishida, M. Kawamoto, On Schrödinger equation with square and inverse-square potentials, *Partial Differ. Equ. Appl.*, in press.
- [31] H. Isozaki, *Many-body Schrödinger equation – scattering theory and eigenfunction expansions*, Math. Phys. Stud. Springer, Singapore, 2023.
- [32] W. Jung, Geometrical approach to inverse scattering for the Dirac equation, *J. Math. Phys.* **38** (1997), no. 1, 39–48.
- [33] M. Kawamoto, Final state problem for nonlinear Schrödinger equations with time-decaying harmonic oscillators, *J. Math. Anal. Appl.* **503** (2021), no. 1, Paper No. 125292, 17 pp.
- [34] M. Kawamoto, Asymptotic behavior for nonlinear Schrödinger equations with critical time-decaying harmonic potential, *J. Differential Equations* **303** (2021), 253–267.
- [35] M. Kawamoto, Strichartz estimates for Schrödinger operators with square potential with time-dependent coefficients, *Differ. Equ. Dyn. Syst.* **31** (2023), no. 4, 877–845.
- [36] M. Kawamoto, H. Miyazaki, Long-range scattering for a critical homogeneous type nonlinear Schrödinger equation with time-decaying harmonic potentials, *J. Differential Equations* **365** (2023), 127–167.
- [37] M. Kawamoto, H. Miyazaki, Modified scattering operator for nonlinear Schrödinger equations with time-decaying harmonic potentials, *Nonlinear Anal.* **256** (2025), Paper No. 113778.
- [38] M. Kawamoto, R. Muramatsu, Asymptotic behavior of solutions to nonlinear Schrödinger equations with time-dependent harmonic potentials, *J. Evol. Equ.* **21** (2021), no. 1, 699–723.
- [39] M. Kawamoto, T. Sato, Asymptotic behavior of solutions to a dissipative nonlinear Schrödinger equation with time-dependent harmonic potentials, *J. Differential Equations* **345** (2023), 418–446.

- [40] M. Kawamoto, T. Yoneyama, Strichartz estimates for harmonic potential with time-decaying coefficient, *J. Evol. Equ.* **18** (2018), no. 1, 127–142.
- [41] J. Lőrinczi, F. Hiroshima, V. Betz, Feynman-Kac-type theorems and Gibbs measures on path space, Vol. 1, *De Gruyter, Berlin*, 2020.
- [42] F. Nicoleau, Inverse scattering for Stark Hamiltonians with short-range potentials, *Asymptotic Anal.* **35** (2003), 349–359.
- [43] F. Nicoleau, An inverse scattering problem for short-range systems in a time-periodic electric field, *Math. Res. Lett.* **12** (2005), 885–896.
- [44] F. Nicoleau, Inverse scattering for a Schrödinger operator with a repulsive potential, *Acta Math. Sin. (Engl. Ser.)* **22** (2006), no. 5, 1485–1492.
- [45] M. Reed, B. Simon, Methods of Modern Mathematical Physics, III Scattering theory, *Academic Press, New York-London*, 1979.
- [46] I. M. Sigal and A. Soffer, The N -particle scattering problem: asymptotic completeness for short-range systems, *Ann. of Math. (2)* **126** (1987), no. 1, 35–108.
- [47] I. M. Sigal and A. Soffer, Long-range many-body scattering. Asymptotic clustering for Coulomb-type potentials, *Invent. Math.* **99** (1990), no. 1, 115–143.
- [48] E. Skibsted, Propagation estimates for N -body Schrödinger operators, *Comm. Math. Phys.* **142** (1991), no. 1, 67–98.
- [49] G. D. Valencia, R. Weder, High-velocity estimates and inverse scattering for quantum N -body systems with Stark effect, *J. Math. Phys.* **53** (2012), 102105, 30pp.
- [50] M. Watanabe, Time-dependent method for non-linear Schrödinger equations in inverse scattering problems, *J. Math. Anal. Appl.* **459** (2018), no. 2, 932–944.
- [51] M. Watanabe, Time-dependent methods in inverse scattering problems for the Hartree-Fock equation, *J. Math. Phys.* **60** (2019), no. 9, 091504, 19 pp.
- [52] M. Watanabe, Inverse N -body scattering with the time-dependent Hartree-Fock approximation, *Inverse Probl. Imaging* **15** (2021), no. 3, 499–517.
- [53] R. Weder, Multidimensional inverse scattering in an electric field, *J. Funct. Anal.* **139** (1996), 441–465.

- [54] K. Yajima, Schrödinger evolution equations with magnetic fields, *J. Analyse Math.* **56** (1991), 29–76.